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(i)  ¥o7-97 9R GUSI H [G¥1f5d 971 797 8 — %, &, T U9 7 | 3G Y- F
40 357 & | @t 397 T & |

(i) ©USF § §vT GEIT1 T 20 7% 20 ¥¥7 & UG FIP F97 Uk 3F FT 8 |

(iii) @US @ H ¥97 g&I1 21 & 26 TF 6 ¥97 & U YF Jo7 g1 37H F1 3 |

(iv) @Y TH ¥97 &1 27 G 34 7% 8 I57 & U9 Y% Jo7 a7 37H! &7 5 |

() GUE T T J97 G&IT 35 G 40 TF 6 I97 § U9 JAH o7 AR 3] # 8 |

(vi) F¥-T7 H GHT W 5 [aeheq 781 & | T Uh-U% 375 Fict gl 5o 4, §1-§1
H s71aRe% faeey 3w 710 § | 0g yo41 § aaer vk gt fadheq &7 3 il |

(vii) T AR, FEVIFATIR, J9H GUE R Jo7 & Gr Jefd a9 1qT 1T
&/

(viii) FAPA & JINT %) AT TG 8 |

«vusg <h

J97 G&IT 1 @ 20 7% Tdb Jo7 1 3% 71 & |
97 &1 1 & 10 7 &1 faheq Fi9T |

1.  3fe gs arfisen o1t I od 7, @ el @

(A) HATR 8
B) ufc=ad I gurd) &
(C) BN TUTd! Bt &

(D) gHem gfa=ad Bt &
2. Togali (3,-2)FM (-3, 2) F = HI gl 7

(A) 52 THE
(B) 410 38
(C) 210 378
(D) 40 TS
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(V)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

Section C : Question Numbers 27 to 34 comprises of 8 questions of three marks
each.

Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.

Choose the correct option in question numbers 1 to 10.

1.

430/5/1

If a pair of linear equations is consistent, then the lines represented by
them are

(A) parallel

(B) intersecting or coincident
(C) always coincident

(D) always intersecting

The distance between the points (3, — 2) and (- 3, 2) is
(A) /52 units
(B)  4+/10 units

(C) 2410 units
(D) 40 units
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3. 8 cot? A — 8 cosec2 A S[eX 2
(A) 8
1
B L
(B) 3
) -8
1
D) _=
(D) S

4. Y% % f&F% o ATHR % Th A H1 T IE- &% 7 (r; > ry)

(A) nrll+nr2l

(B) nl(r1+r2)+n r22

©  Srh(F +1F +rymy)

D) th (1, —1y)?

5.  HEAT 120 I AU TUHEE! o UHBA & &9 H =Ith hid T = Ired gran @
(A) 5x8x3

(B) 15x23
(C) 10x22x3
(D) 5x23x3

6. feardt gl 4x2 — 6x + 3 = 0 1 fafohet (discriminant) 8

A 12
(B) 84
(C) 243
(D) -12
7. 3t g (3, - 6) fogat (0, 0) AU (x, y) I e I T@REs 1 Hea-foig B, @
1%!3 (x, y) B
A  (-3,6)
(B) (6,-6)
© (6,-12)
3
@ (,-3)
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3. 8 cot? A — 8 cosec? A is equal to
A 8
1
B =
8
C) -8
1
D _ =
(D) 5
4, The total surface area of a frustum-shaped glass tumbler is (r; > ry)
(A) mril+mryl
(B) nl(r1+r2)+n r22
© %nh (r12 + 1'22 + ITo)
@) [h? +(x, —1,)?
5. 120 can be expressed as a product of its prime factors as
(A) 5x8x3
B) 15x23
(C) 10x22x3
(D) 5x23x3
6. The discriminant of the quadratic equation 4x%2 - 6x+3=0 is
A) 12
(B) 84
(C) 243
(D) -12
7. If (38, — 6) is the mid-point of the line segment joining (0, 0) and (x, y),
then the point (x, y) is
(A)  (=3,6)
©) (6,-12)
3
D —,—3
(D) ( 5 )
Y P.T.O.
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8.  3pId-1 H TCU TC I H, TRI-@T PQ % THIR Wil S arell Tosi3@reii i

e 2

P
Q
3THl-1

A O

(B) 3

<) 2

D) 1
9. fmafafga semar sea & fow

T 0-5 | 5-10 | 10-15| 15-20 | 20-25

TR : 8 10 19 25 8

eI 71 <hl 3= HI49T &

(A 15

(B) 10

C) 20

(D) 25
10. Torell srEwa g % B9 <hl ITRekar @

A 1

(B) %

(C) uftmfya &

D) o
J97 G&IT 11 & 15 7 R7h &7 9RT |
11. el g0 H1 q fogall W vkesied i arelt @ &l 8 B |
12. ARG TEIG ax® —2x I Th H 2 7, A ‘@’ H OH g |
13. @t =t Bd 3 | (Hatmem/amey)

14. e g At i Boonedt &1 U 2:3 7, @ 3 WAl & A=A HT FIIT
|

15. I A PQR &1 &% I &, @1 g P, Q @1 R g |
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8. In the given circle in Figure-1, number of tangents parallel to tangent PQ is
P
Q
Figure-1

A O

(B) many

© 2

D 1
9. For the following frequency distribution :

Class: 0-5 | 5-10 | 10-15 | 15-20 | 20-25

Frequency : 8 10 19 25 8

The upper limit of median class is

(A 15

(B) 10

) 20

(D) 25
10. The probability of an impossible event is

A 1

1

B l

(B) 2

(C)  not defined

M) 0

Fill in the blanks in question numbers 11 to 15.

11. Aline intersecting a circle in two points is called a

12. If 2is a zero of the polynomial ax? — 2x, then the value of ‘@’ is
13. All squares are . (congruent/similar)

14. If the radii of two spheres are in the ratio 2 : 3, then the ratio of their
respective volumes is

15. If ar (A PQR) is zero, then the points P, Q and R are
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I97 G&IT 16 @ 20 7 [Frfcif@a & 3¢ Ff97 :

16.

17.

18.
19.
20.

AHfd-2 #, Y % s fog B & FR AC % fIrew &1 3991 Fiw 60° 2 | A
e B S 20 7, 2, 1 R ¥ e g & v Fag A ot T B |
C

20 Hi.

60°
A B

STTIa-2

A F1d il

tan 40° x tan 50°
Jrera
e cosA:sin42°%,?ﬁA7=FIWH$ﬂ?TEﬁﬁQl
U e I g IR IJTEAT 141 8 | g1 IR T 31 shl TiReRar i hifa |
39 W <l HaT3 Aq it Teehl Brsa 5 Tt aen foedes = 13 9 7 |

Ife —6,x,8 Th GHIG J & Hikd U2 &, a1 x 1 HH F1d B |
YT
AT I — 27, — 22, — 17, — 12,... ST 1197 92 F1d hIFST |

Qs 9@

J97 G&IT 21 T 26 H Jei% J97 2 37l 71 8 |

21.
22,

23.
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feama TefieRtor 3x2 —4/3x + 4 = 0 % T TG HINT |

it Hife fop o= fore wTehd T n % foTw @@ 60 ofe 07 () T TwTe
Bl Hehdl! 3 |

HAYAT
150 TAT 200 T A.9. (LCM) I hifT |

Ife tan (A +B)= /3 H%Ttan(A—B):%%, 0<A+B<90°, A>B,dl
A T9T B & 9 F1d il |
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Answer the following question numbers 16 to 20 :

16. In Figure-2, the angle of elevation of the top of a tower AC from a point B
on the ground is 60°. If the height of the tower is 20 m, find the distance
of the point from the foot of the tower.

C
20 m
| 60°
A B
Figure-2

17. Evaluate :
tan 40° x tan 50°
OR
If cos A = sin 42°, then find the value of A.
18. A coin is tossed twice. Find the probability of getting head both the times.
19. Find the height of a cone of radius 5 cm and slant height 13 cm.
20. Find the value of x so that — 6, x, 8 are in A.P.
OR
Find the 11*? term of the A.P. —27, - 22, - 17,12, ...

SECTION B
Question numbers 21 to 26 carry 2 marks each.
21. Find the roots of the quadratic equation
3x? - 4/3x+4=0.

22. Check whether 6™ can end with the digit ‘O’ (zero) for any natural

number n.
OR
Find the LCM of 150 and 200.
23. If tan (A + B) = +/3 and tan (A — B) = % 0<A+B<90°, A>B, then

find the values of A and B.
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25.

26.

nnnnnnnn

(-3 H, A ABC @1 AXYZ eoift T § | 9f AB = 3 &, BC = 6 &,
AC =23 T, L A=80° ~ B=60°, XY =43 Tft, YZ = 12 T} qer
X7 =6 9t 8, @ £ Y 1 AF J1d shirg |

X
A

80° ot 6 Tt
3 2l 243 43 ot
60°
B 6 ot C Y 12 9 y/
STHIT-3

TRt hHUTET 14 TS do, 98 378 Sesli # i MU 2 | had I @R TE
SATIT ST Tehdl & foh ohI3 Sod @S g o1 781 | 36 W90 § § T o9 Igesdl
fenTetT STt 3 | FHepTel 7T Sew o 3T=BT 814 hl WTRIehdl JT1d <hIfST |

ffafaa sea 1 areg 39 i -

i 5-15 | 15-25 | 25-35 | 3545

TR : 2 4 3 1
Jreran

freferfigd seq 100 U= o6 STH-SH o =il &l 90T 2

= (T H): | 200—400 400 — 600 (600 — 800 | 800 — 1000 | 1000 — 1200
HHATET hl
&

39 ST 1 SgeIh HId HiY |

21 25 19 23 12

wug

Y97 &A1 27 & 34 H J9% J97 3 37l H7 & |

27.

T g % IHTd IqYs ABCD @it T 7 | g shifsie R
AB + CD = AD + BC.
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24. In Figure-3, A ABC and A XYZ are shown. If AB = 3 cm, BC = 6 cm,
AC = 23 cm, £ A = 80°, « B = 60°, XY = 44/3 c¢m, YZ = 12 cm and
XZ = 6 cm, then find the value of £ Y.
X

4.3 cm 6 cm

B 6 cm C Y 12 cm Z
Figure-3

25. 14 defective bulbs are accidentally mixed with 98 good ones. It is not
possible to just look at the bulb and tell whether it is defective or not.
One bulb is taken out at random from this lot. Determine the probability
that the bulb taken out is a good one.

26. Find the mean for the following distribution :

Classes : 5—-15 | 156-25 | 256-35 | 356 -45
Frequency : 2 4 3 1
OR
The following distribution shows the transport expenditure of
100 employees :
(E;;‘pg‘fmure 200 — 400 |400 — 600|600 — 800 | 800 — 1000| 1000 — 1200
Number of 21 25 19 23 12
employees :

Find the mode of the distribution.

SECTION C

Question numbers 27 to 34 carry 3 marks each.

27. A quadrilateral ABCD is drawn to circumscribe a circle. Prove that

AB + CD = AD + BC.
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28. Tl TS T 3R 26 g AT TSI AT, B T&AT o oH T4 & 4 AU 7 |
&I F1d i |
YT
x 91 y % ¢ g hifg :
2,313 qm 2_%__9
X y X y

29. fag fifse 6 V3 s i wen 2 |

30. PV %k UH T &l hl 961 g eh €19 Th 10 H. x 10 H. 5 H Th
fore A 2 | 3 3V T 10 x 10 e ¥ wieswt 3ud i) 9o we el ® |
36 fog A W T i 1 W, foig B W 9iQ &1 dien, fog C W @S 1 e
qo1 f9g D W Ueh THTEX 1 WieT TR & | 381 i TH Tk TTTeA i q@e
AR AT & qAT hadl & T A, B, C a1 D &l T W 98 IRE Tsh AR

TS o9 IT | = U e fam @l eaegEe qEet fEfifEd o I i
y

10

9

8

a%}’@

AR

1

o0 1 2 3 4 5 6 7 8 9 10

()  Treums 1@ % ®9 4 10 x 10 s =1 35 A g 69531 A, B, C a1
D & fc3rs 31a $ifs |
(i)  FTq i f6 F1 ABCD U THIR =gy & A1 T4l |
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28. The difference between two numbers is 26 and the larger number exceeds
thrice of the smaller number by 4. Find the numbers.

OR
Solve for x and y :
z+§=13 and é—é=—2
X y X y

29. Prove that /3 is an irrational number.

30. Krishna has an apple orchard which has a 10 m x 10 m sized kitchen
garden attached to it. She divides it into a 10 x 10 grid and puts soil and
manure into it. She grows a lemon plant at A, a coriander plant at B, an
onion plant at C and a tomato plant at D. Her husband Ram praised her
kitchen garden and points out that on joining A, B, C and D they may
form a parallelogram. Look at the below figure carefully and answer the
following questions :

y

10

9

Sk
“
[

e
AR

o™

DO
i Gt

X

0 1 2 3 4 5 6 7 8 9 10

1) Write the coordinates of the points A, B, C and D, using the
10 x 10 grid as coordinate axes.

(i1)  Find whether ABCD is a parallelogram or not.
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31. e ford) THTaR <t & TUH 14 UST T TATHA 1050 2 TAT 3HHT T2 IE 10 7,
ql 30 THIR A&t 1 2141 Ue J1d Shifg |

32. 4 3w, 5 At qe1 6 T AT AT T TS Y A FfvT | R 3T aHEy
e 3ie Frt 1 e Aifire Rt ot v gt 1 g et A 2
& |
atera
2-5 THI BISA &1 T ga @i | 369 g 8 8 Ul T oo w fog P
ST | g9 W fog P § Sq¥i-t@1 W hl T HiY |

33. fag fifsu fs .

(cosec A —sin A) (sec A —cos A) = 1

tan A + cot A

34. ITHfd-4 H, AB R CD %5 O dc1 I % & WER TF I & a1 OD B¢
I A1 A 2 | A OA = 7 31 B, O SR W 1 &% T4 HINT |
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31. If the sum of the first 14 terms of an A.P. is 1050 and its first term is 10,
then find the 215 term of the A.P.

32. Construct a triangle with its sides 4 cm, 5 cm and 6 cm. Then construct a

triangle similar to it whose sides are % of the corresponding sides of the

first triangle.

OR

Draw a circle of radius 2:5 cm. Take a point P at a distance of 8 cm from

its centre. Construct a pair of tangents from the point P to the circle.

33. Prove that:
1
tan A + cot A

(cosec A —sin A) (sec A —cos A) =

34. In Figure-4, AB and CD are two diameters of a circle (with centre O)
perpendicular to each other and OD is the diameter of the smaller circle.

If OA =7 cm, then find the area of the shaded region.
B

0)

e,
=

A
Figure-4

OR
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AR5 8, 7 T e ATl @ ABCD % ieTd U 99 @ie T § | SR
N 1 SABA AT hIT |
C
P S

Qs ¥

97 G&IT 35 G 40 T G J97 4 37H] FT & |

35. FgUE p(x) = 3x* — 4x3 — 10x2 + 8x + 8 % I YIH AW HIC, ARG J/2 T
—/2, 38 gl Y fer M E |

AT

E@TC{g(X):x3—3x2+x+23ﬁa’§qaX2—2x+1ﬁ1%[‘14'|'%|35ﬁﬁ?ﬁ9ﬂ
fawrem UeTiiien i o K S HNT |

36. WY a1 W 75 M. S AT & R ¥ @ W g T TS b ST
I 30° AT 45° & | Ife Q1 BT dAsesrsy i fautia fesmeti § =i, a1 g i
STETel W o gl Jma R |

37. AR foreft Brye A w g F TR o= @ yeed i fuEfim fogei w
yfesg A o e T W@r @it S, ar fiag Hife 6 3 o= Q@ god ws &
Fgara ¥ fowrfoa gt € |

AT
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In Figure-5, ABCD is a square with side 7 cm. A circle is drawn
circumscribing the square. Find the area of the shaded region.

SECTION D

Question numbers 35 to 40 carry 4 marks each.

35. Find other zeroes of the polynomial
p(x) = 3x* — 4x® — 10x® + 8x + 8,

if two of its zeroes are v2 and —+/2.

OR

Divide the polynomial g(x) = x3 - 8x2 +x +2 by the polynomial
x2—2x + 1 and verify the division algorithm.

36. From the top of a 75 m high lighthouse from the sea level, the angles of
depression of two ships are 30° and 45°. If the ships are on the opposite
sides of the lighthouse, then find the distance between the two ships.

37. If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, prove that the other two sides are divided in
the same ratio.

OR
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3Id-6 |, TwaTg S ABC #, AD 1 BC, BE LAC @1 CF L AB © | g
T f 4 (AD? + BE? + CF?) = 9 AB2.

A

=
B D C

3TTPid-6

38. 9Ig I T A ST 3N IW & AT Th dad NP b (S o AHR Hl g,
Sehl 315 14 Tt 2 9 F=ct 3R Fd aeita /i 1 Bamd shasn: 8 &t
TAm 20 Tt B | S hl GTRET F1d HIC |

39. aqﬁ%wwwa@sﬁaﬁ%ﬁﬁﬁmwﬁ% | ¢ SAE Il A

B ol W H, Y oI 9 9 & 10 H¢ HH 0T Al & | T T gl
STAT-3AAT BT sl W h1 THI 1A hiIfTT |

AT

Tsh UH AATHR UTeh ohl SHMT & [SHehl S 3Gh! oFars d 3 M. &7 & |
TEH! &TFA Ted § fHa wwfgatg PSR aTeh [SEeR STER SRR 1Tk
1 S & TUSR qAT S8 12 . B, § 4 9 HX 3fees 8 | 37 U hl

TS S TSR F1a HINT |

40. TFafafga srEra 9ea & v 9 =5 yer’ &1 9o gifaw
91 0—10|10—20|20 - 30|30 — 40|40 — 50|50 — 60{60 — 70|70 — 80

TREARAT : 7 14 13 12 20 11 15 8
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38.

39.

40.

nnnnnn

In Figure-6, in an equilateral triangle ABC, AD L BC, BE 1 AC and
CF L AB. Prove that 4 (AD? + BE? + CF?) = 9 ABZ,

A

-
B D C

Figure-6

A container open at the top and made up of a metal sheet, is in the form
of a frustum of a cone of height 14 cm with radii of its lower and upper
circular ends as 8 cm and 20 cm, respectively. Find the capacity of the
container.

Two water taps together can fill a tank in 9% hours. The tap of larger
diameter takes 10 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can separately fill the tank.

OR

A rectangular park is to be designed whose breadth is 3 m less than its
length. Its area is to be 4 square metres more than the area of a park
that has already been made in the shape of an isosceles triangle with its
base as the breadth of the rectangular park and of altitude 12 m. Find
the length and breadth of the park.

Draw a ‘less than’ ogive for the following frequency distribution :

Classes : 0-10/10-20|20-30(30—-40|40 -50|50 — 60|60 — 70|70 — 80

Frequency : 7 14 13 12 20 11 15 8
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